Name:
Class:
Date:

ST. HILDA’S PRIMARY SCHOQL
PRELIMINARY EXAMINATIONS, 2012
MATHEMATICS
PRIMARY SIX
PAPER ONE
BOOKLET A

( )
P61/ _ . Marks: 129
3 Auqust 2012 Parent’s Signature:

Time for Booklets A and B: 50 minutes

You are not allowed to use a calculator.

Questions 1 fo 10 cany 1. mark each. Questions 11.to 15 carry 2 marks each. For
each question, four opfions are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the comect oval (1, 2, 3 or 4) on the Opfical Answer

Sheet.

{20 marks)

1 Round off 7 586 509 to the nearest ten thousand.

(1)
(2)
(3)
(4)

7586 510
7 587 00
7590 000
7 600 000

2 Whatis 20 hundreds, 15 tenths and 80 thousandths?

(1)
(2)
(3)

&)

M
2)

3
4

82 150.0
82 001.5
2 001.58

2000.23

Which one of the following fractions is the largest?

——
nad,

Paga1of$§



1)
2)

ﬁ\

What is the value of 60~ 8:+ (9+ 3) x 2= 47,

() 76
(2) 58
(3} 46
(@ 19

Which oné of the following is the same as 7.040 m?
1) 7km4m
2) 7km40m

3) 7km400m
4) 70km 40 m

"Which one of the following shapes below has exactly 2 lines of symmetry?

!
4=l
|

) [

A
() A
) B
3 ¢
D. .

4

Jo_lene and Marie had 60 books.

Jolene had 24 books.

Find the ratio of the number of books Marie had to the number of books Jolene
had. ‘

Express your answer in its simplest form.

(1)

3

)

Wk N
N W
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8

Mrs Rama had 7 packets of sweelfs.
There were 11 sweets in each packet.

She distributed the sweefs equally among her 4 ch

How many sweets did each child get?

&)
@

@

4

L
4
s
4
in+3
4
in-3

4

A tank was partially filled with water.
It was gradualy filled with water from 0800,

Water was poured into the tank from 0800 to 1200, *© ~

ildrery and hiad 3 sweets lefi.

The line graph shows the amount of water in the tank from 0800 ta 1200. .
During which period was the increase in the volume of water the greatest?

Volume 16
in litres

(1)
(2)
(3)
4

32_

e ————
241 - —

12
gf— 77 __% ________ T

.0800 0900 1000 1100 -+ 1200
Time
0800 to 0900
0900 to 1000
1000 to 1100

1100 to 1200
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10 The figure below shows a number fine.

11

12

. What is the value indicated by the arrow’)

"I i '

] 1 i 1 1 1

9 12
4
(1 9
@ o2

6
@ 105
@ 112

Jack left school when his waich showed 7.35 a.m.

His watcéh was 10 minutes slow.

He took 50 miinutes to travel ts schoot.

When he arrived, he found that he was 10 minutes early for class.
What. hme was his class supposed to start?

(1) 8.05a.m.
(2 8.25am.
(3) 8.45am.
(4) 9.00a.m.

"The figure below shows two identicat quadrants.
Find the perimeter of the shaded part:

Leave your answer in .

" 20m]

(1) (40m +40)m
() (201 +20)m
(3) (10m +20)m
49 (5r +40)m

Page 4 of §




13

14

S @

15

The total mass of boxes X and Y'is 30 kg.
The total mass of boxes Y and Z.is 66 kg.
Box Z is 4 times as heavy as Box X

Find the average mass of the 3 boxes.

1) 16kg
2) 26kg
3) 32kg
4 48kg

The foliowing patiem is formed using 4 letters, A, B, C and D.

ABCDAABBCCDDAAABBBCCCDDD ..
1= 24" ...

What is the 160" letter?

(1)
{2)
(3)

tow>»

In the figure below, not drawn.to scale, ABCD is a square.
COE is an equitateral triangle. A
Find £ y.

(1) 225°
(2) 210°
(3) 195°
(@ 135°

LIS

END OF BOOKLET A
Proceed to Booklet B
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ST. HILDA'S PRIMARY SCHQOL.

PRELIMINARY EXAMINATIONS, 2012
MATHEMATICS

PRIMARY SIX

PAPERONE

“BOOKLET B
Name: ( )
Class: P61/ Marks: 120
.Date: 3 Auqust 2012 Parent’s Signature:

-Time for Booklets A and B: 50 minutes

You are not allowed to use a calculator.

Questions 16 to 25 camry 1 mark each: Wiite your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. : -(10 marks)

16 Express 1.4 a5 a percentage.

Ans: %

17 6 identical cans of drinks are stacked together as shown below.
Find the height of 1 can.

—— N

.,

Ans: cm

Page 1 of 7
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48 Find the value of i +10.

Express your answer as a fract:on m lts smplest form.,

Ans:

19 The pie chart below shaws the number of members in 4 CCAs in a
school.
There are 75 members in tennis and 120 members in badminton.
Fnd the number of members in soceer.

25%

Basketbail :
Badminfon

r
\ . __Soccer
\ " Tennis
25%
Ans:

20 Express 3% as a decimal.

- Round off your answer to 2 decimal places.

Ans:

Page 2 of 7

Do not wiite
in this space




21 The distance between Siti's flat and the public fibrary is 1.5 km.

How long will Siti take if she walks from her fiat to the library at an

average speed of 60 m/min?

Ans:

min

22 The figure befow shows the net of a cube.
Whictr 2 faces:fie oppdasite eath othef?’

Ans: and

23 Find th’e value of i—r* 2rwhenr=17.

- Express your answer in its simplest form.

« 2 .

Ans:

Page 3 of7
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24 A class of 36 pupils sat for a test. .
Thelr results are shown in the graph below.
-To pass the test, a pupil must obtain at least 4 corect answers.
What fraction of tite: class failed the test?
Give your answer in the simplest form

12

10

8
Number of

students © o -
4 - - -

| 2 | — [
NS . e

1 2 3 4,
Number of comrect answers

Ans:

25 Study the diagram below carefully.

Ben started from one of the squares in the grid above.

He walked 3 squares fo the west, 2 squares to the south and then
2 squares {o the east.

He ended in the square indicated by the star.

Put a cross ( X } in the square fo indicate Ben's starting point.

Pagedof 7

Do not write
in this space




Questions 26 to 30 carry 2 marks each. Show your working clearly in the space
below each question and write your -answers:‘in - the ‘Spaces - provided: For
questions which require uaits, - give - your ~answers™ in -the waits - Stated.
(10 marks) o

26 Maria spent :1— of her allowance on Monday.

She spent $16 more on Tuesday than.on Monday.. _ _
She finished all her allowance on Wednesday on 2-4i0oks that cost
$12 each. .

How much was her allowance?

Ans: §

27

The figure below is not drawn to scale. ,
it is made up of 2 identicat squares, DEFG and PQRS, overlapping each
other.

The area of each square is 100 cm2

Point G is the centre of square PQRS.

What fraction of the figure is shaded?

. Give your answer in its simplest form.

Ans:

PagaSof 7

Do not write
in this space




28 The figure below is made up of two identical rectangles JKILM and
LMNP:

Rectangle LMNP-is divided into'5 equalparts v
What percentage of the whele rectangle is unshaded? .

dJ K
M L
-N P

Ans:

%

29 The figure below is not drawn to scale.

ABCD is a rectangle and ACE is an isosceles triangle.
Find £ CED.

220.

o vy,

Ans:

Page 6 of 7
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_ and \abel . -
30 Draw a parallelogram ABCD such that ~DAB = 55° and line BC is 4 cm Do not wiite
. A . . in this space

N
-

END OF BOOKLET B
Have you checked your work carefully?

. 0.,
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. - ST. HILDA'S PRIMARY SCHOOL .
PRELIMINARY EXAMINATIONS, 2012
MATHEMATICS
‘PRIMARY SIX
PAPER TWO

Name: ( )
‘Class: P6/ Marks: / 60
- Date: 3 Auqust 2012 Parent’s Signature:

Time: 1 hour 40 minutes

You are allowed to use a calculator.

Questions 1 to § cany. 2. marks each. Show your working -clearly in the space -

provided for each question and write your answers in the spaces provided. For

questions which require units, give your answers in the units stated. (10 marks)

1 Zack and Ryan had a certain number of game cards.
: Zack had 12p more game cards than Ryan.
After Zack gave away 18,6 game cards, he had -2— as many game cards left

as Ryan. .
-How many game cards did Ryan have?
Express your answer in terms of p in its simplest form.

Ans:

Page 1 of 14

Do not write
in this space




2 The figure below, not drawn to scafe consists of 2 squares and a circle. ﬁi,::t:;:;
What fraction of the ﬁgure i¥ shaded?:
Express your answer in its s:mpl&st form. .

Ans:

3 Shidey has a packet of flour weighing 555 g.
Every day. from Monday to Thursday, she uses 15 g and every day, from
Friday to Sunday, she uses 30 g.
What is the least number of days Shirley needs to finish the packet of flour?

A T

Ans: days

Page Z of 14




4 The charges for 2 buffet cateri
- The 2 companies would charge
" * How many people did Richird cater-for?

ng companies,-A and B, are shown below.
amount for Richard's 1-day évent.

Company | Miscellaneous Cost Per Day

Cost Per Person. Per Day

A

$40

. $15

B

$16

$17

Ans:

§ Numbers are aranged in rows (1,2,3,4.

--) and columns-( A, B, C, D )as

shown below.
L A B8 C D
Row 1. . 5 - 10 15
Row 2 30 25 20
Row 3 35 - 40 45
Row 4 60 a5 50
Row § 65 70 75
‘Which row and column will the riuinber 430 be?
Ans: Row Column

Page 3 of 14
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For questians 6 fo 18 show your woriqng clearly in the space prowded fcr each 30 t,;};"s";;“;

question and_write your answers in the spaces provided. The number -of marks
available is shown in brackets { | at the end of each question or part-question.

(50 marks),

6 Hamy took 18 fides at a theme park.
The rides cost $1.20 and $0.50 each. :
Altogether, he spent $16 at fhe theme: park.
How many of the rides he took cost $0.50each?

Ans: [3]

7 There were 187 pupils in the school'choir and the Guzheng Club.
When -g- of'the‘Guzheng Club members and g of the choir members left

to attend a oompetltlon an equal number of members in the two groups

remained in schosl,.
How many members were there in the choir?

Ans: (3]

Page 4 of 14




The figure below, not drawn to seale, shows 2 overlapping-rectangles A
and B and a triangle C. <
60% of rectangle Ais shaded.

% of rectangle B is unshaded.

% of triangle C is shaded,

The area of the shaded triangle™and the area-of the shaded rectangle are
in the ratio 1:1. '

What is the ratio of the area of the tota! stiaded parts to the area of the
whole figure?

A

.« 0,

13]

Ans:

Pago Sof 14

Do nat write
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9

' In thesfigure below, notdrawn to'scale, PQSTis a trapezium.
PR /I TS. '

Find £QRT.

Ans: [3]

10

Town Y and Fown Z are 375 km apart. |

Mr Ang drives from Town Y towards Town Z at a uniform speed of

60 ken/h.

Mr Chan drives from Town Z fo Town Y at a uniform speed of 90 ken/h.
Both Mr Ang and Mr Chan start their joumey at the same time.

How far has Mr Ang driven when he passes Mr Chan on the road?

LI T

Ans: [3]

Page 6 of 14

Do not write
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11

There were some red and some blqe marbies in a box.
The"nuiﬁber"of red marbles was % the number of.blue marbles.

On Mdr':;dag}, % of the red marbles and % of the blue marbles were

removed. ‘

On Tuesday, 52 red marbles and 40 blue marbles were removed.

The number of red marbles left was 25% of the number of blue marbles
left X S

How many red marbles were in the box at first?

Ans: 4]

Page 7 of 14

Do not write
in this space




12 Acarwas travelling from Town P to Town Q.

After oompletiﬁQ —? of the jourey in —;— hour, the car passed avan
travelling at a constant speed of 70 kmvh in the same direction.

3 hoursiater, the carreached Town Q but the van was still 65m
away from Town Q.

(@) ~ Find the average speed of the car.

(b)  Ifthe van left Town P at 08 10, at what time would it arive at
Town Q?

Ans: (a}

[3]

(b)

f11

Pago B of 14

Do not write
in this space




13

Chef Wan baked three types of loaves.

“He baked 24 more‘carrot loaves thati:céim loaviss.

He baked 48 mare corm loaves that_z walnut loaves.
He then sold % of the carrot loaves, % of the com loaves :and% qfthe
walinut loaves. ' o

There were altogether 101 loaves left at the end of the day.
How many carrot loaves did Chef-Wan bake?

Ans: (4]

Page 3 of 14

Do not write
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14

AR and Bob each have some money.

If Ali spends $96, the ratio of the.amount of money Ali has to the amount
that Bob has wilt be 3. 5.

If Bob spends $96, the ratio of the amount of money Ali has to the
amount Bob-has will be’ 11 13

How much do the two boys have alfogether?

Ans: [4]

Page 10 of 14
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15 The figure below; not drawn to scale, cons:sb; of a rectangle, a quadrant
and an isosceles friangle.
The radius ofthequadrantls 10 cm.
Use the calculator value of x to find the differénce between the shaded
areas of X and Y, correct to 2 decimal places.

kY
5cm . '

~
‘.

N

10¢m .

LR T

Ans: [4]

Page 11 of 14
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16

At a supermarket, there were 520 more oranges than apples.
12.5% of the oranges and 20% of the apples:were sold.

In the end, there were 488 more oranges than apples left.
How many fruits were left? )

Ans:

[s]

Page 12 of 14
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. | Do not wiite

T Atank, 25 cin by 12 cm by 20 cm, was %-ﬁn‘éd' witti water at first. - in this space

Tap.A: which could fill the tank comolefely in 2 hours, -was fumed on first
Tap 8, which coudd fill-the tank: completely in 6 hours, was tumedon -
20 minutes after Tap A was tumed on.

@ How much water was in the tank after 20 mintites?

(b) How long did it take to filt the rest of the tank completely with
water?

Tap A

25 cm:

Ans:  (a) 2]

®) _ [3]

Page 13 of 14



Do not write

.. 18 Anumber of passengers boarded an emply MRT frain at Pasir Ris _ in this space

station. - :
At Tafnpines svanon, :gif.of thiem alighited-and 80'passengers Bosrded the

{rain.
At Simei station, 223 passengers alighted and 38 boarded the-train.

The train now has %bf thé numbér of passengers when it left Tampines
station.

(@) How many passengers were on the train when it left Simei
sfation?

(b) How many passengers were on the train when jt left Pasir Ris
. station?

Ans: {a) [2]

() | [3]

END OF PAPER TWO
Have you checked your work carefully?
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ST. HILDA'S Primary School
Preliminary Examinations 2012
Answer Key for P6 Mathematics

Blurs =ss =f[z

28. 0u-2u=8u

Paper 1
1) 3 6) 1 11} 3
2) 3 7) 3 12) 3
3) 1 8) 4 13) 2
4) 2 g) 3 14) 2
5) 2 v710) 4 15) 1
16. 140
17.10
18. ¥, )
. 19.30
20.3.92
21.25
22.A,D
23.19%/,
24.%,
25.
X
*
 26.12x2=24
2u+16+24 = 44
2u+40-> 4u
220
S80>4u
27. 100x Y/, =55"
100 + 100 = 200
200-25=175



au/mu=3/m=4/s
Ysx 1%/ =80%

29.90% + 22° =112°
<BAC = 180°—112°=68°
<CAE =90°-68° =22°
<AEC = 180°- (22° x 2}
=136°
<CED = 180° — 136° = 44°

30. 9
5’

o

4

9’

P

R

1. 4u-6p~> %4 (4u)
4u—6p 2> 3u
6p—=> 1lu
24p 2 4u

2. 0%

3. 15x4=60
30x3=90
90 + 60 =150
555 £+ 150 = 3 r 105
3x7=21
105=30+30+15
21+341=25

4. 40-16=24"
‘ _17-—-‘15=2
24+2=12

S. Row 29 Coiumn C

6. 18x1.20=21.60
21.60-16=5.60
1.20-0.50=0.70
5.60 = 0.70 = 8 rides

7. 5u+12u=187
17u > 187
u2>11
12u - 132 members




8. A: B -
Us UsS us
40:60 5:1 1:1
4:6 15:3 3:3

4u+ 18u + 6u = 28y

5T
6:28
=3:14

10.

11.

12,

180° - 104° = 76°

Angle QST =180° - 102° = 78°

Angle STR =Angle QRT = 180° - 76° - 78° = 26°
90--60 = 30

90+60=150

375+150=25

2.5X 60 =150 km

4(3u-52) > 5u-40

12u—-208 > su-40

12u-168 2> Su
12u-5u-> 168
7u-> 168

lu->24

9u 2216 red marbies

(a)0.5+3=35
70x3=210
210+ 65 = 275
275+5=55
S5x7=385

385+3.5 =110 km/h

(b)385:70=55

‘14,

~ 5.5h=5h 30 min
0810 >1340

Y428+ Y012 4 %0 101

Yu+28+ Yu+12+ Y4 101
fu+u+36 101

Yot + %15t +36 > 101

B/ 36> 101

n/uu > 65

¥u-=>s

lu->60

60 + 72 = 132 carrot loaves

A B
If A spends $96 3 S 2> 8
If 8 spends $96 11 13 2> 24

b o "



If A spends 596 9 : 15 2 24,

11u—9u=2u

2u > 96

Ju-> 48

24u > 1152

1152 +96 =$1248

15. %x10°x [ = 251§
5x20 =50
10:2=5
¥%x5x5=125
2517 - 50 =25][-50-12.5
=16.04 cm? ( 2d.p)

16. (87.5%u + 455) — 488 > 80%u
87.5%u —-33 - 80%u
87.5%u - 80%u -> 33
7.5% > 33
1% = 4.4
87.5%u + 80%u 2> 167.5%u
167.5%u = 737
737 + 455 = 1192 fruits

17. (@) Tap A
1 tank = 2h
¥% tank -2 1h
% tank -2 60 min
/¢ tank = 20 min
1/5 + 1/6': 11/30 _
1y.0% 12 x 25 x 20 = 2200 ml

{b) 25 x 12 x 20 = 6000
- 6000 — 2200 = 3800
6000 x /oo = 66%/3
5800 + 66%/3 =57 min

18. (a) 80 + 105 =5/8
185 2> 5/8
37-21/8
111->3/8

(b) 296 - 8/8
29680 =21.6
216:3=72
72x5=360
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